= AH O
N = 0 &8 AF S & Al A
2000 &= =20l A LB A
EAM: NHSEHZAIY A
HH: MEIXNAEN L AR (BFES/AH)
Sl stz 2 (&2 &2
_ _ boE ==
2AH -3 - SH2A(SH) - MEAMY - BHES 0] AFCH @;OH Hns
KSR APDASE A 1,354,233 2,217,651 863,418
= 215,099
< 1,139,134
MEIXISEN L HAR(SHEES/XA) 683,485 1,518,102 N834,617
= 215,099
== 468,386
NASF3ARZA 29 274,044 315,290 N41,246
= 48,099
< 225,945
NHESIE 32 22 195,079 224,171 A29,092
101 Q24| 86,559 105,405 18,846
10 JIZHZ22XNsEES 86,559 105,405 18,846
OZ22AES2e 35,000 x3H 2552 26,775
Os¥d H=&¢ 32,000& *7H *63| 20 26,880
OYULHAH| 52,000 x5 « 15| x5 1,300
Ol 20 &2 AIA 32,0002 »2H x90 5,760
OXNHAXRZTAHEZD})
60,000 x6H x63| x4 8,640
OXNATIAEZAH(EEL)
41,000 12 63| x4 11,808
OHAELRE2(4UEE) 5,396
201 B2 HH| 46,020 56,866 A 10,846
01 Al 2&2ld] 36,020 41,866 5,846
0O2¢ 222 = UM M= 24,120
OXHHESHET X OI=H| 3,500
ONHAESIEXN A WS 2AIS 8,400
03 SAI2HHI 10,000 15,000 25,000
OJIBTAl 24H(48]) 10,000
206 XH=2d| 12,000 17,100 5,100
01 MZHl 12,000 17,100 A5,100
OME ¥ Y5 29 10,000
O XA Kt &= A 2,000
301 Yt A=2 50,500 32,800 17,700
10 SAIAHIEAZ 5,600 0 5,600




EAM: NASEATZAIS A
HE: MEGHEN U HD(HALE/N)
el NOBAAPTY 2 LR
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
OXAHMNEI W Y ASH 5,600
12 JIEIE A2 44,900 32,800 12,100
OXNHAZAEHS S 29 36,500
ONA%AEHSISKNEA MESUFH 8,400
AozRsd 22 242|(21D) 78,965 77,825 1,140
= 48,099
= 30,866
101 214 d| 66,732 66,748 AN 16
= 40,039
== 26,693
10 JI2ZtHIZ2E2XANSE+ 66,732 66,748 N16
O3 A& IR 66,732
= 40,039
< 26,693
206 M =4l 10,433 11,077 N644
= 6,260
= 4,173
01 THEHI 10,433 11,077 N644
O3 A& IR0 10,433
= 6,260
o= 4,173
301 et8A= 1,800 0 1,800
= 1,800
10 SAIAHIBAZ 1,800 0 1,800
CEE-FBIE 5] 1,800
= 1,800
NASEARZE T4 236,404 1,013,710 ANTT7,306
= 167,000
= 69,404
ez 2 MEAE =4 17,404 58,090 AN40,686
202 O4H| 9,404 5,440 3,964
01 =2WAbI 9,404 5,440 3,964
OHF REMER W 2EI A 9,404
206 M =4l 8,000 15,650 NT,650




A A EAZAIE &
A MOAREA & AR (SHES/KH)

el TeEAN IR XA (el &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
01 MZbl 8,000 15,650 AT ,650
OXNHAZERX =4 =38 SAH7Y 8,000
SEANEZ2 SANE> 52,000 172,620 A 120,620
201 LBtE2Ad] 10,000 18,200 A8,200
01 ArR2t2|bl 5,000 18,200 A 13,200
OS2ANEE 2g2e 5,000
02 =329 5,000 0 5,000
OATHE AMEESx & ABF P2¢ 5,000
202 O4Hl 10,000 12,760 A2,760
01 =2Woib] 10,000 12,760 N2,760
OREXNEZEI XAMX AL 5,000
OXNAZEX 2H2UH AS 5,000
206 FH=H| 10,000 89,860 NT9,860
01 THEHI 10,000 89,860 AT9,860
O=SANEE Mz7e 2,200
O2FH0IAZ E3FAN 5 7€ 7,800
207 HAFINEHI 10,000 0 10,000
03 AI&AHHI 10,000 0 10,000
OJI4=sd 2LHE 5,000
odxE Mz+7¢ 5,000
401 AIEHIZ =204 10,000 51,800 41,800
01 Al&H| 10,000 0 10,000
OZEAII2SAEE & 8,000
OKREXNEZ=E HILWH 2,000
405 RAHAHS SHI 2,000 0 2,000
02 TS MTHI 2,000 0 2,000
OHREN 2 2,000
ATHAOILI X 22 A (2 D) 167,000 0 167,000
= 167,000
401 AlZHIZLE204b] 167,000 0 167,000
= 167,000
01 Al&HI 167,000 0 167,000




EAM: NASEATZAIS A
HH: METIREE 2 AP(BHBS/X)
ol NOIBAADDA X4 (e @
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
FEEER EEEEEEE RS 167,000
=2 167,000
HAL Z2g22] 173,037 189, 102 N 16,065
AL 2F22 173,037 189, 102 AN 16,065
101 Q14| 18,982 16,065 2,917
10 JIZHZ22XNsEES 18,982 16,065 2,917
OFA HA 17,440
OHAELRE2(4UEE) 1,542
201 B2 I 154,055 173,037 N 18,982
01 AtR2t2ld] 5,400 5,400 0
OMA& ¥ 22X B4&H X S 5,400
02 22294 148,655 167,637 A 18,982
03523 ANEHUISA, XS 148,655
BHSHHU(NHSLAPAIL L) (JIEHIIE) 670,748 699,549 28,801
ol 2A 622,170 649,380 N27,210
SE& oA X&A 622,170 649,380 N27,210
101 Q14| 574,050 598,200 N24,150
01 JI=22 376,368 396,200 N 19,832
o=s2 352,414
(@F2R:1EN 308,835
-42 64,970,000 * 1 64,970
-52 2,940,6003 x2H 12 70,575
-6=2 1,968,600 x1H x12& 23,624
A2 AL 1,717, 1003 *4H x12& 82,421
-2 1,766,900 x2H 12 42,406
-8=2 1,041,000& x1H «12& 12,492
-92 1,028,900& x1H x12& 12,347
OJls2 43,579
72 2,295,3003 12 x12& 27,544
-92 1,336,200 x1H «12& 16,035
(OFSFEat=; 287,444,000 x1/12 23,954
02 =% 67,055 63,878 3,177




AN TASIEHPALE A
M HHIAZH(NAHAEZHRAISA)(DIEH/DIE
el e 2| (el =
SN H - SR(EH) - NPAMY - BES 0] &F o e HRE2
ONE=H 10,320
Ot Xt 40,0002 x14H x 122 6,720
OR2I=E 20,0002 x15H 128 3,600
oXdsHIE X+ 9,410
@k 51,4003 x5 *4 2] 1,028
O1nssu 419,090& x5H »43] 8,382
odza=gittt= 11,040
020401 & 100,000& »4H 122 4,800
O15E 014 20 0| 2t 80,000& x1H ~12& 960
O1040[4 154018t 60,0002 x4 128 2,880
O58014 1048018t 50,0003 x4H « 122 2,400
OS=gR=d 5,520
O 80,000& x4H x12E 3,840
Oll=g =4 1,680
-5 50,0003 x1H«12& 600
-6~75 30,0002 x3& ~ 128 1,080
OANZ2222H 7,325 x 14 B «25A| 24123 30,765
03 EHZAH 21,840 23,400 A 1,560
OF MG AH| 130,000& «14E x 122 21,840
04 WE2XH| 21,960 21,720 240
O5= 140,000 2 x12& 3,360
O6~7=, HPA 130,000& «11H « 122 17,160
08~95 120,000& »1H 122 1,440
05 ZFESIH 28,745 30,907 N2,162
OFEF | 287,444,000 *1/122 x120% 28,745
06 JtAHXI&HI 47,908 51,512 A3,604
OJt A X2 HI 287,444,000 *1/128 200% 47,908
07 AII2 4| 10,174 10,583 A409
O4= 64,970,000 *1/12x70%*1/30x 1H =11 1,390
OFSyz 287,444,000 *1/12%1/30% 11! 8,784
203 HEF=4H 6,600 6,600 0




AN TASIEHPALE A
M HHIAZH(NAHAEZHRAISA)(DIEH/DIE
o9l ol 2Kyl Rk
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
01 JIZ2ILRFAH 3,000 3,000 0
(OFES) 3,000
02 ZEFINHRFAH 600 600 0
©100E NHXI 40,0003 15 600
04 RA2ELRFAH 3,000 3,000 0
©15¢! Olat 250,000& 123 3,000
204 XA 41,520 44,580 23,060
01 HMSHSHAH 4,800 4,200 600
(OFEFSs 400,000 x 1+ 123 4,800
02 HNs==2xdl 28,920 30,780 A 1,860
O4= 400,000 x 1+ 123 4,800
O5= 250,000& 2 x 12 6,000
6=, H A 155,000& x5H « 12 9,300
or= 140,000& «3H 122 5,040
08~9= 105,000& 3 x12& 3,780
03 SRS 7,800 9,600 A 1,800
OCHel &Sl 50,0003 x13E *12& 7,800
Jl23| 48,578 50,169 A 1,591
2FA2E Jl=2Z 4l 23,978 25,569 A 1,591
201 LEH23H] 12,554 9,869 2,685
01 AtR2teld 10,154 8,669 1,485
OFNMESE AtR22/H] 10,154
02 2244 2,400 1,200 1,200
ORN2E 2294 2,400
202 O4Hl 11,424 10,200 1,224
01 =LHAHI 11,424 10,200 1,224
OFRAM2E =UHOHI 11,424
gHs 29 24,600 24,600 0
201 ZEH2EH] 24,600 24,600 0
01 AR 2cldl 24,600 24,600 0
Oog=2s+& 23,700
ogdd A7 S A2 900




